2014

2
ﬁ @
5 >4 =20
1. BRI
2. SEARIT BT
3. ATHERCE
4. JRHMLI
5. JUER AT
20 =<2 =40
1. HHTRFMFEBSEG, PR “RIEEEHZ R B2 ( )o
ARY B. 3111 CIEZIR D. 1 BR

2. fF (TBEES W) — B, BATBUEAIF T N BTG AT AL, AT WSS AT B AT BRI 58 [
B )o

Al B.IRE C.HEY D.

3. FAEDU AN JE T3 E A 55 AT B 5 ST R A ( )o

A.

3

i B.ic it C.Hf D.

4. THIANJE TATBUEHGUEEA R B EEZ I ( )
AR BEE B G (ORFS i) D.BEAA WK B

5. PRERIEREE — ML RS, RS RFEE IR T L AR BT BERR e S 2. AR R T
Pl sk s 2 )o

AZERLR SRR Cm RLR SR
BT PSR 2 D. B AR

6. Shrcil. BRI EIK AL “BRANBURT” I E SRR G ( )o

ANREEZHENE B B. AL BURF /h R
C.BURF TAEN B Z= 3500 TN T 58 D. “/NEURF, KAt

7. AT AN iR P 3 ( )o

AT BURET BATELA i CAT I DATHUE F

625 1 3




8. LHYSKIIRTIATHUAIIGT, AIMAEAT B FEX — W& AEAT B SR AT 2 I AR HR (0 5 [ 25 40 A e 502
( )o

AR « A« 452 B. [ 4t C.JE e YA
9. AT N A% A AL PR R R AR ), X RREE ) B T )
A. YLTRIRE S B. MNAFKIAE C. THEIMIfE D. B4R RIS

10. X2 Al AR M Z A AATJ7 S Ay, e iR WEE RO BRI TT S I )

AfE R 22k B UM A 2K
C.JAT JR U Py B sk D JE [ B s

11, (BCEBUR: AR cofiog BRI A5 IR 2 )

A, FRYE o G B. SCARKFe BLIER DU

C. HMA%FePZE D. FRYE e BLITA I 1 o 26 A1 )
12, NSHATEUCE BRI B 5 (A B B RN e R R )02 ( ) .
A E A B.ES VI A B

C.f# AT & D2 AN 5

13. SEMATEBRCR ) IR F A TBOREE . ( ) ATEBN BAIRMEHAR
AL I RE BATH AL CREIES DATE AL

14. [H55 BEAGELA( VB AR AT T BUE RN -

A. A B. JME
C. wmo D. #E

15. RIMARBEBAFEHGEDLIEC ).
AEAIEE BTN CRSEE DRRN

16. T VF 2 T AT BOE AR A SEHEA N, 52 SN 0 AT B T ( )o
A. fhFeESTi B BUTHELE C. WINELIE D. FEFPMESLIk

17. ATBUBCRIIPG,  E BT O™ AT B LU e AT Ta)( R
A. XHR  B. H3) C. W D. &%

18. BURMTFINUN RN bE TAT BRI R ST ( Do
AATEUR I R S BRI B RS

625 2 3




CATHUA R RS D. IR AL

19. B —NESEIRA 55 3 EEI 7 7 B 502 ( )

A. fE[E B. FK[H C. JLfF D. ¥

20. i NG PE TR B, R EME IR, S LI 2T

A. JTRI (FEaR4e) B. ¥%ICHI (BUFE)

C. FfEIMR) CGRVERIRG ) D. AN (AN
6 ><7 =42

1. FRBEATBHLIC M Py s AR 2 R G Jy 1 2

2. REATHCE PGS AL A 3 2RI A2

3. LKA BN mEA A7

4. TR B IIER .

5. Z006 HR SR REE YUK D ) R DLAE R L ?
6. ANAtABHEAT SR AT U B — I A A 55

3 x16 =48
1. WA SZER ATBR RIVER =3 A AR 5 &R
2. ATBHRSR R AR SURAT A7 Iy sSe AT B SR R 4 ?

3. 7E (R RO T A SO T E KU HRE ), TR BRI B AP ) “ SRR 7 B 208 “ wk

SETEAEIY o WX B0, RS Un T BREARBUR L5 i 2 IR R 2

625




